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25. A two stage circuit is shown in Figure 6. It’'s E-MOSFET paramcters are (10]
knl = kng = 0.8mA/V2 & VTNl = VTNg = 0.8V

a) Calculate the DC parameters of the circuits i.e Va1, Ve, Vesi, I, Ip2;
Vpa, Vs1, Vs2, Vps2, Vb1, Vbs1 & Vigs2

b) Calculate input impedance of the circuit

c) Calculate output impedance of the circuit

d) Calculate voltage gain for the circuit

VvDD = +18V

RD
R1 3.3k
C
100k _CII2
LU

10pF
I'— M2
cB
Jli_ n NMOS2
J7 100 Vout
R2
24k ‘
—
M1
sy
1
j‘i j—{ NMos1 é
LN
10pF
Vs cs
R3 RS i

T

Figure 6: Question 25

= .24TTLA
Answers: Vo1 = 1.588V Vgr =476V Vos1 = 1.348V-‘ £D4116V0 Vpsz =
I — 024mA Vp = 172V Vs1 = 024V V52 = ©" ) cromA/V
Jffl _ 3416V Vps1 =3.176V  Ves2 = 1.348V gﬂl s
Ao sk 2,=83k Avi=-1 A =28 AV

13.78V
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